SCT 406

Balancing Equations Practice #1

1. SO, + 0, — SO3

2. Fe + 30, — Fe0s3

3. CHs + O, — CO; + H)O

4, TiCl, + 0, — TiO, + Cl

5. Ba(OH), + NaySO, — BaSO, + NaOH
6. Al + 0, — 2 AlOs

7. CeH1206 + 60, — CO, + H)O

8.  Pb(NO3), + 2KI — Pl

+

KNOs

9. Cl, + 2Na — NaCl

10. NaeOH — Na + O, + H.O

11. NH; + Cl, — HCI + N,

12. N, + 0 — N20s

13. N, + H, — NH;s

14. P + 0O, — P,0Os5



15. P + Cl, — PCl3

16. FeS + 0O, — Fe0O3 + SO,

17. KNO; — KNO, + O

18. H,0, - 2H,0O + O,

9. CO, + KOH — K,CO;3 + HO

20. Al + H,SO0, — A|2(804)3 + H

21. NHs,NO, — N, + H,0

22. HCI + CaCO3 —  CaCl, + H,O + CO,

23. Al + 0O — AlLOs

24, Fe;O3 + 3C —  3CO; + 4Fe

25. The neutralization of hydrochloric acid (HCI) by calcium carbonate (CaCO3) produces
calcium chloride (CaClz), carbon dioxide (COz) and water (H20).
Write the balanced equation for this neutralization reaction.

26. The combustion of methane, CH4 mixed with O, produces carbon dioxide, CO2, and
water, H20. The unbalanced chemical equation for this reaction is as follows:

CH4 + 02 — C02 + HZO

Balance the chemical equation for this combustion reaction.



